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5. Write notes on the following : 10x4=40

Freafafaa w Rl ford -

(a) Mylonite and pseudotachylyte

ATEAATEe 3R WS fReTse

(p) White smokers associated  with
submarine volcanism

SE SaTeTgEl % WY g3 e gEuE w0
T .

(c) BIF of Karnataka
Fleh & o 3HFo TWho

(d) Piezoelectricity in minerals

ghel § R

6. (a) What is the application of Rare Earth
Elements (REE) in petrology?

frefagm § geiw 9= @@ (REE) &1 &
1 37

(b) Explain the double eutectic as shown
by nepheline-silica system.
Jgfem-fate womelt g Remn w0 swd
TR SE F9 R G|
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4CCSME
GEOLOGY
-fogm
PAPER—II
JE-93—1II
Full Marks : 200 Time :3 hours
_Ns.mm,. : 200 g 3R
The figures in the margin indicate full marks
sifd & qufs fog g &

Candidates are required to answer five questions in
which Question No. 1 is compulsory

whaiat @ ute gwi & W 1 §, B
W w1 dfFEd 2

1. Answer any four of the following (word limit
200 for each question) 10x4=40
frefifaa & @ fed TR ¥ W 2 (s T * T
w=-di 1 200)

(a) What is paired metamorphic belt?
Zf@a suiala e T 87

(b)) Discuss the crystal structure of
pyroxene and amphibole.

T ok whe f fRed @@ W
T4t ®|
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10. (a)

(b)

(.6 )

What is twinning of mineral? Explain
the laws of twinning found in mineral
belong to the triclinic system.

e & Rafm s @7 mfeate st %
gt § fafm % &gl & ool w8

Give a brief account of the major coal
deposit of India.

T % W@ e W 6 w8 s w

Describe various structures found in
sedimentary rocks. Add a note on their
significance.
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